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component-output-disjoint{i:l}(ds;da;T1;T2;C1;C2)
≡def ∀X1:Interface(ds;da;T1), X2:Interface(ds;da;T2), es:ES.

es-decl(es;ds;da) ⇒ [[(C1(X1)).2]] ∩ [[(C2(X2)).2]] = 0

clarification:

component-output-disjoint{i:l}
(ds; da; T1; T2; C1; C2)

≡def ∀X1:Interface(ds;da;T1), X2:Interface(ds;da;T2), es:ES{i}.
es-decl(es;ds;da)
⇒ es-interface-disjoint(es;abs-interface(es;(C1(X1)).2);abs-interface(es;(C2

(X2)).2))

http://www.nuprl.org/FDLcontent/p0 963683 /p27 324131 {component-output-disjoint}.html

1


